Methylene Chloride
Response Ratio
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Amount Ratio

Resp Ratio = 5.00e-001 * Amt + 5.32e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear
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Acetone
Response Ratio

Amount Ratio

Resp Ratio = 9.25e-002 * Amt + 4.27e-002
Coef of Det (r"2) = 0.999 Curve Fit: Linear

Method Name: Z:\VOASRV\HPCHEM1\MSVOA_W\METHOD\82W010819S.M
Calibration Table Last Updated: Wed Jan 09 04:40:48 2019




Acrolein
Response Ratio

0.55

Amount Ratio

Resp Ratio = 3.72e-002 * Amt + 1.12e-003
Coef of Det (r"2) = 0.992 Curve Fit: Linear
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Tert butyl alcohol
Response Ratio

Amount Ratio

Resp Ratio = 3.07e-002 * Amt + 1.87e-002
Coef of Det (r"2) = 0.998 Curve Fit: Linear
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